" & E Cﬁ @ Moltiplicare per potenze di dieci ( numero mancante
e )

Nome: Data: Punteggio:
5, 189 x = 5189 5,528 x =552.8
4,955 x =495.5 10,901 x = 10901
9, 663 x =96.63 7,746 x =774.6
7,075 x =70.75 3,016 x = 3016
7,822 x =782.2 6, 742 x =67.42
7,33 % =733 5,974 x =597.4
7,674 % =7674 8,025 x = 8025
10, 042 x = 10042 4,514 x =451.4
5,725 % = 5725 7,281 x =728.1
6, 583 x =65.83 5,775 x = 57.75
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'w i f Q Moltiplicare per potenze di dieci ( numero mancante
== )

Nome: Data: Punteggio:
5,189 x 1000 = 5189 5,528 x 100 = 552.8
4,955 x 100 = 495.5 10,901 x 1000 = 10901
9,663 x 10 = 96.63 7,746 x 100 = 774.6
7,075 x 10 = 70.75 3,016 x 1000 = 3016
7,822 x 100 = 782.2 6,742 x 10 = 67.42
7,33 x 100 =733 5,974 x 100 = 597.4
7,674 x 1000 = 7674 8, 025 x 1000 = 8025
10, 042 x 1000 = 10042 4,514 x 100 =451.4
5,725 x 1000 = 5725 7,281 x 100 = 728.1
6,583 x 10 = 65.83 5,775 x 10 = 57.75
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